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Sample Paper – 2010
Class – X
Subject – SCIENCE (THEORY)

Time: 2½ Hours                                                                                      Max. Marks: 60

General Instructions

1. The question paper comprises of two sections A and B. You are to attempt both the    sections.

2. All questions are compulsory.

3. There is no overall choice However, internal choice has been provided in all the three    questions of five marks category. Only one option in such questions is to be attempted                 

4. All questions of section A and all questions of section B are to be attempted separately.

5. Questions 1 to 6 in section A and 17 to 19 in section B are short question. These     carry one mark each

6. Questions 7 to 10 in section A and 20 to 24 in section B are short answer type questions and carry two marks each

7. Questions 11 to 14 in section A and 25 to 26 in section B are also short answer type questions and carry three marks each.

8. Questions 15 and 16 in section A and question 27 in section B are long answer type questions and carry five marks each.

                                                                           SECTION A
1.   Silver Chloride turns grey when placed in sunlight. What type of reaction is this? 
2.   Give the reaction for the preparation of bleaching powder.
3.  What are soaps made of?

4.  Give the equation for Joule’s Heating Law

5.  Suppose current flows through a conductor in the east-west direction. Draw the    pattern of field lines around it.

6.  A student points out a similarity between a bar magnet and a solenoid. Is he right? If yes, how?
7. (i) Name a sodium compound that is an ingredient of antacids.

  (ii) With the help of a reaction, show how it is prepared.

 (iii) What chemically happens when this compound is treated with dilute HCl?

8. Choose an exothermic and  an endothermic reaction from the list:

    CaO + H2O → Ca(OH)2
    N2 + O2 → 2NO

    Na + H2O → NaOH  

9. (i)How is an ammeter connected in a circuit? What will be the total resistance in a   circuit drawing 0.5A current from a battery of e.m.f 10V, resistors of 4ohm and 7 ohm in such a connection?
  (ii) Among copper and tungsten, which is used for electrical wires and filaments in bulbs? Why?

10. A wire of length ‘l’ is doubled on itself. Compare the ratios of the initial and final resistivity.

11. a) Why is Newland’s method of classifying elements called Law of Octaves?

 b) Both Na and K have the same number of valence electrons. What can you   conclude? Give your answer in relation to the periodic classification of elements.
c) How does atomic size vary in a period from left to right?
 12. (i) Differentiate Esterification and Saponification reactions.  

       (ii) A student added 10 ml alcohol to about 50 ml water. What will he observe? Why?
  13.  (i) An object of size 5 cm when placed at a distance of 30 cm from a convex lens forms an  image  6 cm in height. At what distance from the lens should a screen be placed to get the image? 

        (ii) Which is the rarer medium of the two: carbon disulphide with a refractive index of 1.63 
            glass with that of 1.65? Why?
14.  Why is a variable resistance used? What determines the rate at which energy is delivered by a current? Differentiate between resistance and resistor.

15. Give reasons:

  a) Aluminum oxide is an amphoteric oxide.

 b) Electric wires used in homes are coated with PVC.

 c) Solder is used for welding electrical wires

d) Electrovalent compounds can conduct electricity only in aqueous or molten state

e) Metals of higher reactivity undergo electrolytic reduction

                                                                 or

a) Choose 1 metal each that reacts with hot water and cold water respectively:

Sodium, magnesium, zinc, copper

b) Carbonate and sulphide ores are converted into oxides during extraction
c) Non metals are electronegative

d) Industrial iron is not used in the pure state

e) Ram says Iron is placed above Zinc in the reactivity series. Is he right? Name an element reactive than Iron. 

16.   Give reasons:

      a) What is angle of deviation? Why does it exist for a prism?

   b) Name two factors responsible for rainbow formation.
 c) In a bifocal lens, which lens is placed in the upper and lower portions

   A person can see an object only when it is placed at 30cm from his eyes. The doctor says he suffers from a refractive defect of vision. What defect is it? Justify your answer. Draw a ray diagram to show how it is corrected
                                                Or

a) Why do stars twinkle?

b) Clouds appear white. Why?

c) Which is the least deviated color? What type of particles scatter this light?

d) Retina generates electrical signals. How?

e) Draw ray diagram for the following defect:

Mr. Joshi feels strain in his eyes when he tries to watch T.V which is placed 3.5 mt away from him.

                                                            SECTION – B

17. What will happen if decomposers get eliminated?

18. What is the function of the Prostate gland?

19. Carbon-dioxide is transported in the dissolved form in blood. Why?

20. Write 2 factors on which the source we choose depends upon?

21. Give reasons:

     a) Wind energy has many demerits
     b) Bio-gas is an excellent fuel
22. What does watershed management emphasize upon? What is its aim?

23. Suggest any 4 measures you could undertake for the management of resources?

24.  a) Write two advantages of variations
        b) What is ‘pollen tube’?

25. Differentiate between a reflex action and a reflex arc. What is the importance of feedback mechanisms? Write an advantage of hormonal coordination over electrical impulse transmission.

26. a) How can we say that all humans belong to ‘Homo Sapiens’

     b) How do genes control traits?

     c) When does speciation take place?

27. Draw a neat labeled diagram of the excretory system and label vena cava, renal artery, renal vein and aorta.

 i) What is the major component of urine?

ii) Name the glands placed over the kidneys.

                                             Or
Draw the schematic representation of transport and exchange of oxygen and carbon dioxide in the body and label any 4 parts.
i) Why do mammals require double circulation?

ii) Veins have valves whereas arteries have elastic walls. Why?

                                                VALUE POINTS
1. Decomposition reaction where energy is supplied in the form of light

2. Ca(OH)2 + H2O → CaOCl2
3. Soaps are sodium and potassium salts of long chain carboxylic acids

4. H = I2 Rt / VIt /  [image: image2.png]S
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5. Use right hand thumb rule and draw the diagram showing correct directions.

6. The pattern of field lines around them is similar.

7. i) baking soda

ii)NH3 + NaCl + H2O + CO2 → NH4Cl + NaHCO3
iii) Liberates CO2, gives water and sodium chloride / give the reaction

8. the first one is exothermic, second one endothermic and the third one doesn’t exist

9. i) Series connection. 11ohm.

ii) Copper – wires because it has a low resistivity, tungsten for filaments as it has a high melting point

10. Resistivity of a substance doesn’t change with respect to length an area of cross section. So the ratio is 1:1

11. i) Every eighth element is similar to the first/ similar to law of octaves in music.

ii) They belong to the same group as elements in a group have same valence electrons

iii) It decreases as nuclear pull increases and pulls electrons closer decreasing atomic size

12. Esterification – preparation of ester using alcohol and acid

Saponification – getting back the alcohol and acid using acid/base.

A clear solution is formed as alcohol is soluble in water in all proportions.

13. h1/h2 = v/u (‘m’ is negative as image is real)
Calculating to get v = 25cm 

Rarer medium has lesser refractive index, carbon disulphide

14. Regulate current without changing V. electric power. Resistor offers appreciable resistance whereas resistance is the property to oppose flow of charges

15. a)reacts with acid/base to give water and salt b) used as insulator to prevent electric shock c) low melting point/is an alloy d)in solid state ion-movement is restricted by rigid structure e) they have higher affinity to oxygen/carbon cannot reduce their oxides

                          Or
a) Hot-magnesium, cold – sodium b) easy to get metal from oxides c) they gain electrons d) in pure state is stretchy and soft when heated e) No. Aluminium/calcium/zinc/magnesium/sodium/potassium 

16. a) Angle between i and r. peculiar shape of prism. b) Internal reflection and dispersion c) upper-concave, lower- convex d) hypermetropia because object is placed further away from near point. Correct ray diagram with convex lens

                         Or
a) Atmospheric refraction and variation in earth’s physical conditions and refractive index b) they are large particles that scatter white light c) red-large particles d) light sensitive cells activate upon illumination e) myopia-correct diagram with concave lens
17. Natural replenishment of soil won’t take place/ nutrient flow blocked

18.  Secretes fluid for transport and nutrition of sperms

19.  It is more soluble in water than oxygen

20. Ease of extraction, cost, technology available, environmental consequence(any 2)

21. a) requires large space, exposed to vagaries of nature, can be set up where wind blows fro larger part of year, wind speed to be 15kmph, back up facilities required (any 2)

   b) 75 p.c. methane, smokeless, higher thermal efficiency, no residue (any 2)

22. Scientific soil and water conservation. Develop primary resources to produce secondary ones by not disturbing ecological balance

23. Use bicycle, switch of lights/fans, not to waste water, use stairs instead of lift, wear extra sweater during winter (any relevant 4 points)

24.  a) survival advantage, evolution, continual of species(any 2)

b) Tube growing from pollen to ovules to transfer pollen

25. Reflex action is a sudden, automatic response. Reflex arc is the path of reflex action from point of acquiring to point of movement. Timing and amount of hormones is controlled. Hormonal coordination is slow and steady but persistent and reaches all body

26. a) genetic footprints traced in Africa/ African roots

b) Genes control efficiency of organs/ processes which in turn control traits

c) When variation combines with geographical isolation

27. Diagram with proper proportion and labeling. i) Urea/uric acid ii) adrenal glands

                                Or

 Diagram with proper proportions and labeling. i) They have higher energy needs for maintaining temperature ii) veins – to prevent backflow, arteries – blood emerges with pressure from heart.
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